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Geometria do espaço-tempo

Notação: evento E quadrivetor≡ ⃗r, t ≡
<latexit sha1_base64="ij4oZdE9KVyDJ9tYWUKN0dJae+A="></latexit>

(ct, x, y, z) ) (x0, x1, x2, x3)



Geometria do espaço-tempo
Notação

Vetor covariante
<latexit sha1_base64="qAN+zj2GJzGv7Yrscc93yaCCg7Y="></latexit>

(ct, x, y, z) ) (x0, x1, x2, x3) ⌘ xµ
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Geometria do espaço-tempo
Notação

Vetor covariante
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(ct, x, y, z) ) (x0, x1, x2, x3) ⌘ xµ
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Transformação de Lorentz
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Transformação de Lorentz

<latexit sha1_base64="8Xof395K3Uq2L1McjFrMjUT/X0c="></latexit>

x̄µ = ⇤µ
⌫x
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Transformação de Lorentz
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Transformação de Lorentz
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x̄µ = ⇤µ
⌫x

⌫
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x̄µ = ⇤̃⌘
µx⌘
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Produto escalar
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Produto escalar
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Pratique o que aprendeu       
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āµb̄µ = a⌫b⌫

<latexit sha1_base64="ZY7DaLPnjqt59V6qLO0ubNevcRA="></latexit>

�̄xµ�̄xµ = �x⌫�x⌫



Pratique o que aprendeu       
<latexit sha1_base64="WiJ1ob9LF+TQrmmLBgx1TaddCvE="></latexit>
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